Settlement Revision - General
1. P.33 6C

List the things needed when looking for a suitable site for a settlement hundreds of years ago.
5 MARKS

------------------------    ------------------------  -------------------------

-------------------------   ------------------------

2. P.40 7A-7E

A) What are the functions of a settlement?    1 MARK

The functions of a settlement are ____________________________

B) The location of an industrial town:

Old industrial towns were near ____________________________________

because it was _______________________________ to set up a factory.

New industrial towns are ________________________________________

____________________________________________________ lines.

C) The location of a port:

Where there is a ___________________________________________

with ___________________ around and nearby ___________________

which import(buy in) and export(sell abroad) _______________________ .

D) The location of a market town:

At route-centres where it was __________________________________

__________________________  .

E) The location of a resort town:

Near an  _________________________ eg ski slopes, _________________

or beautiful scenery.                        4 marks
     3.
    P.52 9A


    Name the 5 different land use zones of a city.   5 marks

--------------------------  -------------------------------    ---------------------------

         ---------------------------  --------------------------------

4.     P.52 9B-9F

a. List 5 features of the CBD        5 marks
---------------------------------    -----------------------------    ----------------------

--------------------------------    -------------------------------

b.  List 5 features of the old industrial and old housing zone–inner city 5 marks
-------------------------------   ---------------------------------   -------------------

-------------------------------   -------------------------------

c. List 5 features of the new industrial and new housing zone–suburbs 5 marks
-----------------------------   ----------------------------  ---------------------

---------------------------   ------------------------

5. P.47 

8B - What is a sphere of influence



1 mark

A sphere of influence is ___________________________  customers come.

8A - Give 2 examples of low order services
2 marks

---------------------------------------    ------------------------------------------

8A - Give 2 examples of middle order services
2 marks

----------------------------------    -----------------------------------

8A – Give 2 examples of high order services   
2 marks

----------------------------------   --------------------------------

8B - Why do large department stores, have a large sphere of influence? 3 marks

Large department stores have a large sphere of influence because:

· People are willing to ____________________________

· There are so _____________________________
· They only visit them on _________________________

8B - Why do newsagents have a small sphere of influence?   3 marks

Newsagents have a small sphere of influence because:

· People are only willing to _____________________________

· They need to visit tme __________

· There are _________________________

6.
P.57/58 10B- 10F and diagram

10B - What is urban decay?  1 mark

Urban decay is the ______________________________ the town.

10A - Use the diagram to list features of a landscape of urban decay.   3 marks

-------------------------   -------------------------  ----------------------  

10C - What is urban renewal?  1 mark
Urban renewal is ______________________________ of the town.

10D – Why did councils knock down tenements in the 1960s?  1 mark
Tenements were knocked down because they were _____________ and

__________________________  .

What did councils replace the old tenements with? 1 marks

Old tenements were replaced with high - ________________

Why did people not like the new type of housing? 3 marks

People did not like high-rise flats because:

· There was vandalism

· Old people felt _____________

· Poorly ___________

· Little space for ___________________


10E – Why were New Towns built in the 1970s? 1 mark


New Towns were built in the 1970S to give people better  _____________


Conditions


Look at the Plan of a New Town – list the features of a New Town     2 marks

· Area attractive with ___________________________

· Houses built away from ___________________________

10F – Why was the Inner City housing modernised in the 1980s? 1 mark


Inner city housing was modernised because there was ________housing.

Make a list of ways in which the housing was modernised:  3 marks
------------------------------   ------------------------------  --------------------------

Total marks  60

